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2002 HIGHER SCHOOL CERTIFICATE EXAMINATION

Geography

Section II (continued)

Marks
Question 17 (7 marks)

(a) Using Sources A and B, calculate the percentage of Brazil’s population living in 1

Sao Paulo in the year 2000.
M. T e Ih pw.c.m.’rq ................
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Aoc A mopulahon. lmqu el 171.9%

(b) Using Source A, identify TWO features of the population pyramid that make it 2
typical of a mega c ]itl\;l' the developmg world.

(i e don.ond.
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(¢) Describe ONE health issue and ONE social issue that a mega city in the 4
developing world could face in the next decade.
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